DETERMINANTY

1) Vypocitejte determinanty:

1 0 1 1
1 2 0 1
1 1 5 1 -1 2 0
y 1 2 3 y y 2 ] 1
-1 —3‘ ‘— 6‘ 1 2 41
-1 1 -2 -3 -
2 0 -3 0
1 2 31 1 2 11
4 -3 5
1 -1 2 1}-2 -3|-1 1 3 0
) ) !_3 2 _8
1 -1 2 0|4 11-2 0 1 2
1 -7 -5
1 1 0 O 0 -1 0 3
vysledky: -1, -9, 36, 0, 4, 8, 10, -34, -100
2) Urcete determinanty matic:
4 -3 + -
A= :?f y o=y
8 =3 x—y x4y
Vysledek: det A =4, det B = 4xy
3) Urcete determinanty matic:
1 2 5 1 2 5 1 2 3
A= 4 7 EB=2 4 7 C=|0 00
£ B 8 4 8B 9 -3 5 4

Vysledek: det A=10,detB=0,detC=0
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